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Exercise 9.1

Question 1:

-G‘,
—+sin(y")=0
Determine order and degree(if defined) of differential equation dx

Answer
4

. —+sin(»")=0
dx

= y"'+sin(y")=0

mr

The highest order derivative present in the differential equation is' . Therefore, its
order is four.
The given differential equation is not a polynomial equation in its derivatives. Hence, its

degree is not defined.

Question 2:

Determine order and degree(if defined) of differential equation Y43y =0

Answer

The given differential equation is:
y'+5y=0

'

The highest order derivative present in the differential equation is . Therefore, its

order is one.

’ ’

Y. The highest power raised to” is 1. Hence, its

It is a polynomial equation in

degree is one.

Question 3:

4 2:5
(d.\] Fry d S0
Determine order and degree(if defined) of differential equation

dt dt”
Answer
N e
(E'i J . Lt
dt dt~
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d’s
The highest order derivative present in the given differential equation is dr’ . Therefore,
its order is two.
d’s ds d’s

dr and dt

It is a polynomial equation in . The power raised to 4" is 1.

Hence, its degree is one.

Question 4:

( 2 PPN
X1 +cos| ﬂJ:O
\ dx” ) \ dx

Determine order and degree(if defined) of differential equation

Answer
‘ (l Oslv QJ:O
\ dx” \ dx

d’y
The highest order derivative present in the given differential equation is dx’ . Therefore,
its order is 2.
The given differential equation is not a polynomial-equation in its derivatives. Hence, its

degree is not defined.

Question 5:
dv .
= =C083x +sin 3x
Determine order and degree(if defined) of differential equation dx

Answer
d’y .
= Cc0s 3x +sin 3x
dx’

»

") .
= f--:; —cos3x—sin3x=0
dx’
dy
The highest order derivative present in the differential equation is dax” Therefore, its

order is two.
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d’y d’y
It is a polynomial equation in 49X and the power raised to 4% is 1.

Hence, its degree is one.

Question 6:

Determine order and degree(if defined) of differential equation
(Y +(") +() '+ =0
Answer

(3"Y +(") +(»")+y' =0

The highest order derivative present in the differential equation is . Therefore, its
order is three.

The given differential equation is a polynomial equation in v,y and y .

The highest power raised to- is 2. Hence, its degree is 2.

Question 7:

ld D 1,7 oF
Determine order and degree(if defined) of differential equation YLy +y'=0

Answer

Y+2y"+y' =0

The highest order derivative present in the differential equation is* . Therefore, its
order is three.

y",y" andy . The highest power raised to Vs 1.

It is a polynomial equation in-

Hence, its degree is 1.

Question 8:
Determine order and degree(if defined) of differential equation y+y=é
Answer
y+y=¢e
=y +y-e' =0
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’

The highest order derivative present in the differential equation is? . Therefore, its

order is one.

The given differential equation is a polynomial equation in Y and the highest power

’
raised to” is one. Hence, its degree is one.

. . ) . ) .y ): +2y=0
Determine order and degree(if defined) of differential equation

Answer
Y +(y) +2y=0

The highest order derivative present in the differential equation is . Therefore, its

order is two.

» '

The given differential equation is a polynomial equation in ! and". and the highest

power raised to Y is one.

Hence, its degree is one.

. . . . - : P+ 2y' +siny=0
Determine order and degree(if defined) of differential equation - - -
Answer
V' +2y' +siny =0

The highest order derivative present in the differential equation is-" . Therefore, its
order is two.

~ ’ »

This is a polynomial equation in'l' and". and the highest power raised to Y is one.

Hence, its degree is one.

The degree of the differential equation
\"

52 £ 2\ o
\d ‘ ‘ +Lﬂ) +sin(ﬂj+l:0
dx” ) th th

\ dx ) dx

is (A) 3 (B) 2 (C) 1 (D) not defined
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Answer

d*y " ayY . (dy
—— | +|—=—| +sin| =— [+1=0
dx” dx dx
The given differential equation is not a polynomial equation in its derivatives. Therefore,

its degree is not defined.

Hence, the correct answer is D.

Question 12:
The order of the differential equation
2x° fl—l —3‘—12‘-'4+ y=0
d.\" (j\ ’ |s
(A) 2 (B) 1 (C) 0 (D) not defined
Answer
224y . I8
Tod Tde

d:J’
The highest order derivative present in the given differential equation is dx’ . Therefore,
its order is two.

Hence, the correct answer is A.
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